
Assembly Instructions For The Hickory Rocker 

Tools Needed: Parts List ffard.ware 
Screwgun 
Phillips Head Bit 

Seat �mbly (1) 
Back �mbly (1)

1-1/2" Silver Phillips Head Screws (4)
2"' Wood Screws (2)

Step 1 

Step2 

St.ep3 

Step4 

St.ep 5 

St.ep6 

Step7 

Left Arm & Leg �mbly (1)
Right Arm & Leg Assembly (1)
Rockets (2) 
Back Leg Brace (1) 

Lay out and identify all the parts and pieces. 

1-1/2 .. Wood Screws (10)
1-1/4 .. Wood Screws (6)
1" Wood Screws ( 4)

Lay the arm. & leg assemblies on their back on a flat surface with the front of the arms 
facing up. Notice there is a right & a left. Now take the seat assembly & locate the 
four predrilled holes on the back seat support brace. Line them up with the four 
predrilled holes on the back rocker legs. Fasten with four 1-1/2" screws. Note: Make
sure the front slat on the seat lays on top of the front legs before tightening. Do not 
overtighten any screws. 

Line up the predrilled holes on the front seat slat with the predrilled holes on the front 
legs. Fasten with four 1 .. screws. Do not overtighten as this will split the wood. 

Find the predrilled holes on the side of the front legs and insert a 2" screw on each 
side fastening the front legs to the seat assembly. Now find the predrilled holes on 
the side of the back legs and use two 1-1/2" screws to fasten to the seat assembly. 

Now flip the chair over so that it rests on the front seat slat. Find the two predrilled 
holes on the back of the back legs below the seat and attach the back leg brace with 
two 1-1/2" screws. Now find the 2 short braces that are attached to the front legs 
beneath the seat and tum them so the predrilled holes line up with the predrilled holes 
on the seat support brace. A�ch with two 1-1/4" screws. Do not overtighten. 

Set the chair upright and attach the back assembly. The top back support strip is
fastened to the back of the legs and the center support strip is fastened to the front of 
the legs and goes between the arms. Line up the top back support strip with the
predrilled holes on the back legs and fasten with two 1-1/2" screws. Now line up the 
holes on the bottom of the back assembly with the holes on the back of the seat and 
attach with two 1-1/4" screws. Next take two 1-1/4" screws and attach the middle 
support strip to the front of the back legs in the predrilled holes. 

Fasten the rockers to the chair by lining up the predrilled holes in the rockets with the 
predrllled holes on the side of the legs and attach with the four 1-1/2" silver phillips

head screws. Note: The legs can be pulled to the proper position to line up with the 
holes in the rockers if needed. 


